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e odgs NE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2|3 AR 1t 813,596 746,976 66,620
Ngos 2 (Lets3aF /ALl 2el) 787,216 720,5% 66,620
cggs A 616,463 568,169 48,294
dgs Jl=dtl 504,613 466,819 37,7%
205 2|3/H| 451,813 414,019 37,7%
01 & &=H] 92,400 92,400 0
OFNE 48 U APHSY|
900,000 7 H+ 122 75,600
O=ExgsHI 200,000 7 H+ 122 16,800
2 3= 141,645 139,690 1,955
Oogd=¢ 1,686,250 x7 & * 12 141,645
03 2| =LHOHI 7,350 7,350 0
O=FIAMNIH S HE2II& A+ 0]
70,0002 x7H+54H 2,450
Ooddloly & ¢y =0 ol
70,0003 7 H+5 2,450
OXIHZ |2 gE22d R ol
70,0008 x7 H+5L 2,450
04 2|3 =20l 24,000 24,000 0
O2ld =2/ od| 24,000,000 *13] 24,000
05 22 SSEH 40,100 40,100 0
Ooggs-8 =534
5,300,000 7 37,100
OUAZASER RS S|
500,000 6 3,000
06 232 YR FA| 72,600 72,600 0
o2 2,300,000~ 128 27,600
OR 1,250,000& ~12& 15,000
Od YA IS
800,000 <32 *12& 28,800
Ol AHZBASE PR S 300,000 x4 1,200
07 Q2 H2NLH(SSRIE, I LR) 5,600 5,600 0
OXgod u=H| 400,000 7 E*22] 5,600
08 QIR S| (2I2t9IE) 11,638 11,639 AT
OXgela aiztel& WSy
11,638,000 * 14| 11,638
09 A H Iyl 35,000 0 35,000
(ORIFEESESP h=ga] 35,000,000& 35,000
10 SIZEAMEE S 12,000 12,000 0
O 8ol 2¢2 12,000
-H= AZXXIR2g g2
7,000,000 7,000
-dgAlzole 32T
5,000,000& 5,000
oY== 2E=s 3,600 3,600 0
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O=gs RE= 75,0002 x4« 123 3,600
12 =AU RES 5,880 5,040 840
O:8xs RE= 70,0002 x7& 122 5,880
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03 2R ES 52,800 52,800
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1,100,000 * 1290 & 13,200
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1,100,000& * 1294 & 13,200
SIFES Mgt H E8 111,850 101,350 10,500
201 et 3| 101,850 93,350 8,500
01 At22t2l] 101,850 93,350 8,500
O2l2 SHIO0IX FXI=22=H]
700,000 * 122 8,400
O22 2oE M 250,000 x40 10,000
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3,600,000& 3,600
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70,0002 *30& 2,100
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3,200,000& %14 3,200
Oflzlgz 22 € JIE3 A
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50,000& * 162 800
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3,000 * 1001 =122 360
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25,0002 #5011+ 122 1,500
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50,0002 +74 350
OIS U Hol3l ALY
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301 EtE NS 10,000 8,000 2,000
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SInEE N 165,485 152,427 13,058
SPE5RA S Hat 23,360 17,600 5,760
201 Zet=3h] 14,000 10,000 4,000
01 AtR2t2|HI 14,000 10,000 4,000
O&E d2u=s)1& /S u=h|
1,000,000 7 & »23] 14,000
202 04| 6,960 6,400 560
01 SLHoIH 1,960 1,400 560
Oxg A2DSIP DS O]
70,0002 x7H*4& 1,960
04 =Xi=todbl 5,000 5,000 0
OdgEolg =2 Xgolg 2H2 =210
uf 5,000,000 5,000
405 AtatE = 2,400 1,200 1,200
02 =A=EhI 2,400 1,200 1,200
O2z|2ed =AY
20,0002 105+ 128 2,400
o FOA 24 1,550 1,550
301 EtE NS 1,550 1,580
11 dALEBIXIZE S 1,050 1,080
O3&z 44 2a= 70,0002 % 15H 1,050
14 JIEt2 a3 500 500 0
OHIAMITAL & ZASC E45E
50,0002 10 500
=83 2329 140,575 133,277 7,298
101 e124d| 34,849 29,091 5,758
M JIZtHZ2 RS2 34,849 29,091 5,758
Oddlal & SAE 2SHY £)| U2 34,849
-JlZ2s 87,2003 x222 « 123 23,021
=t 87,2002 10! 872
=5=g 87,2002 x48L 4,186
-AXt=E 87,2003 11 960
- 28& 29,037,600 *12% 3,485
-EX= 2,324,550& 2,325
201 fet= 3| 74,676 73,136 1,540
01 AtR2t2lHl 45,320 43,780 1,540
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20,0002 *50H 1,000
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300,000& 122 3,600
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-ZelH &Y JtECIX #Y
250,000 +*5CH+62] 7,500
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200,000 122 2,400
—SAIEA 25,0002 x102r A% 123 3,000
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500,000 22 1,000
OolEeIR 48 98t S20HAY)
8,000& »13&»90& 9,360
OBBX IEE2 EH2
50,000 =20~ 128 1,200
02 S3=gHl 19,3% 19,35 0
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500,000 22 1,000
OxXg==U &« <=4t 12,000
2% gHE SEXH 8,000,000& 8,000
ol AFE B 4,000,002 4,000
OFNIE Y& o2 27 LHRI 1,083
-2EeH 4002 *2,000% 800
-SJ|2# 2,530 *100% 253
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20,2403 12«10 & 243
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70,0002 x3Z*22 +73] 2,940
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LHodBI(2021) 70,0002 x5 +3 1,050
O d 9 #F HXI0R SUodI(22l)
70,0002 %52 102! 3,500
OAFMOILE Y SEets &4 2Uoib| (2
2l) 70,0002 x4 H 4 1,120
03 =AHFNHI 9,000 9,000 0
O2dgs=8d =2gF 0l
3,000,000 *3H 9,000
OIAL 28 & 2l 5,268 0 5,268
OIAE S 5,268 0 5,268
201 Ler23 | 3,868 0 3,868
01 At2t2ltl 3,868 0 3,868
O3 &a SRS M
17,0002~ 14Y 238
OCAIE S =&l S22t DA
8,000& x3&+0& 2,160
OoAt2te 25223 =g
70,0002 7 H =33 1,470
202 04l 1,400 0 1,400
01 2LHoIH 1,400 0 1,400
OQAISH &2F2 =0
70,0003 x2& * 10 1,400
YA HHI(2ASIAIR D) (DIEHDIE 26,380 26,380 0
J1I=23sl 26,380 26,380 0
JI23Hl 26,380 26,380 0
201 =3 21,060 21,060 0
01 At2t2lt] 21,060 21,060 0
OZM2Y AtR2teld]
50,000 x 12« 12& 7,200
o224 oItz 152 720
RPN 6,000&+52+ 123 360
RAPNEES 6,000&+62 123 360
Of2a & AR AZ2, F2H 5= 13,140
-S2Al 15,0002 %155+ 12& 2,700
NN 10,0002 x245+32x 122 8,640
-2t 15,0003 102+ 123 1,800
203 gF=4| 5,320 5,320 0
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O2SAFR 1t 250,000 x 122 3,000
Od=eAd 100,000& 122 1,200




